20 awin - 20 Ty DT VY1ITWAN

nD"wion V. P. ri=h ]

nD*1120 N1DIZ NMNTEND WA9N] N1 TI1{21 21 TN
20 0 + 0O + 390 = 390 [ 1] 1NMIIR- 1317210 1
20 o + 0O + 359 = 359 [3] 1*"¥p- "muy'nrT 2
20 0 + 0O + 312 = 312 [ 2] T1799- 731"9w . 3
20 o + 0O + 298 = 298 [ 5] a?'n- 2viTtia . 4
20 o + 0O + 216 = 216 [4] ®*21"nT- DBa"2 5
20 o + 0O + 163 = 163 [6] Tizin- m-121vv 6

I MPs N*TWNn 2> IO

nav¥n nioipeg nnTen V.P. nN1T121 21 TN

528 0 + 0O + 390 = 390 [ 1] 1NMIIR- 1317210 1
368 0 + 0O + 359 = 359 [3] 1"¥v- "muv'nrT 2
115 0 + 0O + 312 = 312 [ 2] T1799- 1731"9w . 3
60 0 + 0O + 298 = 298 [ 5] Az n- Z2viTtia . 4

-410 o + 0O + 216 = 216 [4] ®*21"nT- DBa"2 5

-661 o + 0O + 163 = 163 [6] Tizin- m-121vUv 6

(1|?1n:11n1 TNOTIRTIWDIVWDRTWNANZDOW IO 20 NODDI1ANNT TTNN: TIW]Jﬁ

n*"mv.n n*a1wo'm



